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Enrollment No: _______________________         Exam Seat No:_______________________ 

C. U. SHAH UNIVERSITY 

Summer Examination-2022 

 

Subject Name: Demography – II  

Subject Code: 4AH04DEM1  Branch: B.A. (Economics) 

Semester: 4  Date: 06/05/2022  Time: 11:00 To 02:00   Marks: 70 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 

(2) Instructions written on main answer book are strictly to be obeyed. 

(3) Draw neat diagrams and figures (if necessary) at right places. 

(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions (MCQs) (14)  

1 a) 1 When was the first census held in India?બાયતભાાં પ્રથભ લસ્તી ગણતયી ક્યાયે મોજાઈ શતી? 
(a) 1870 (b) 1871 (c) 1872 (d) 1881. 

 

2 b)  What is Gender ratio? લરિંગ ગણુોત્તય શુાં છે? 
A.Number of females per thousand maleશજાય ઩રુૂ઴ દીઠ સ્ત્રીઓની વાંખ્મા 
B.Number of females per hundred maleવો ઩રુૂ઴ દીઠ સ્ત્રીઓની વાંખ્મા 
C. The study of population growthલસ્તી વદૃ્ધિનો અભ્માવ 
D. Difference between birth rate and death ratesજન્ભ દય અને મતૃ્ય ુદય લચ્ચેનો તપાલત 

 

3 c)  A large proportion of children in a population is a result of:લસ્તીભાાં ફા઱કોનો ભોટો હશસ્વો 
આના ઩હયણાભે છે 
A.High birth rateઉચ્ચ જન્ભ દય 
B.High death rateઉચ્ચ મતૃ્ય ુદય 
C.High life expectanciesઉચ્ચ આયષુ્મ 
D.More married couplesલધ ુ઩હયણીત યગુરો 

 

4 d)  Birth rate is the number of live birth per thousand persons in:જન્ભ દય એ શજાય વ્મક્તત 
દીઠ જીલાંત જન્ભની વાંખ્મા છે: 
A.10 yearsલ઴ષ 
B.5 yearsલ઴ષ 
C.2 yearsલ઴ષ 
D.1 year.લ઴ષ 

 

5 e)  What year is considered a great demographic divide in India?બાયતભાાં કયુાં લ઴ષ ભશાન 
લસ્તી વલ઴મક વલબાજન ગણામ છે? 

(A) 1911 

(B) 1921 

(C) 1931 

(D) 1751. 

 

6 f)  Prior to Census 2011, in which among the following census highest sex ratio was recorded in 

India?2011ની લસ્તીગણતયી ઩શરેા, નીચેનાભાાંથી કઈ લસ્તી ગણતયીભાાં બાયતભાાં વૌથી લધ ુજાવત 
ગણુોત્તય નોંધલાભાાં આવ્મો શતો? 

A. Census/ લસ્તી ગણતયી  1941  
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B. Census /લસ્તી ગણતયી 1951 

C. Census /લસ્તી ગણતયી 1961 

D. Census /લસ્તી ગણતયી1971 

7 g)  According to Census 2011, how much was the Total Fertility Rate (TFR) in 

India?2011ની લસ્તી ગણતયી મજુફ બાયતભાાં કુર પ્રજનન દય (TFR) કેટરો શતો? 
(a) 2.1 

(b) 2.3 

(c) 2.4 

(d) 2.0 

 

8 h)  According to the latest data released by the NITI Aayog in 2016; What is the Infant 

Mortality Rate in India in 2016?2016 

ભાાંનીવતઆમોગદ્વાયાફશાય઩ાડલાભાાંઆલેરાનલીનતભડેટાઅનવુાય ; 2016 ભાાંબાયતભાાંવળશમુતૃ્યદુયકેટરોછે? 

(a) 42 per 1000 live birthsજીલાંતજન્ભો 
(b) 34 per 1000 live birthsજીલાંતજન્ભો 
(c) 29 per 1000 live birthsજીલાંતજન્ભો 
(d) 54 per 1000 live birthsજીલાંતજન્ભો 

 

9 i)  Which states of India have the lowest and highest Infant Mortality Rate 

respectively?બાયતના કમા યાજ્મોભાાં અનકુ્રભે વૌથી ઓછો અને વૌથી લધ ુવળશ ુમતૃ્ય ુદય છે ? 

(a)Kerala, Biharકેય઱, લફશાય 

(b) Odisha, Jharkhandઓહડળા, ઝાયખાંડ 

(c) Goa, Madhya Pradeshગોલા, ભધ્મપ્રદેળ 

(d) Maharashtra, Uttar Pradeshભશાયાષ્ર, ઉત્તય પ્રદેળ 

 

10 j)  The Global Gender Gap Index is published by ગ્રોફર જેન્ડય ગે઩ ઈન્ડેતવ દ્વાયા પ્રકાવળત 
કયલાભાાં આલે છે 

(a) UN Women યએુન વભુન 
(b) United Nations Development Programme વાંયતુત યાષ્ર વલકાવ કામષક્રભ 
(c) World Bank વલશ્વ ફેંક 
(d) World Economic Forum લર્લડષ ઇકોનોવભક પોયભ 

 

11 k)  UNDP’s report on the Human Development Index does NOT compare countries on 

the basis of : ભાનલ વલકાવ સચૂકાાંક ઩ય યએુનડી઩ીનો અશલેાર આના આધાયે દેળોની તરુના કયતો 
નથી: 
a.Knowledge જ્ઞાન 
b.Corporate governance કો઩ોયેટ ગલનષન્વ 
c.Long and healthy life  રાાંબ ુઅને સ્લસ્થ જીલન 
d.Standard of living જીલનધોયણ 

 

12 l)  The Full form of OBC is …OBC નુાં ઩ણૂષ સ્લરૂ઩ છે... 
a. Other backward classઅન્મ ઩છાત લગષ 
b. Other backward caste અન્મ ઩છાત જાવત 
c. Over backward class ઩છાત લગષ ઉ઩ય 
d. Over backward caste ઩છાત જાવત ઉ઩ય 

 

13 c.  A highest tribal population can be found in.ભાાં વૌથી લધ ુઆહદલાવી લસ્તી ભ઱ી ળકે છે 

a. India બાયત 
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b. Africa આહિકા 
c. Australiaઓસ્રેલરમા 
d. Sri Lanka શ્રીરાંકા 

14  Which among the following factors influence the density distribution of the 

population in India?  નીચેનાભાાંથી કમા ઩હયફ઱ો બાયતભાાં લસ્તીના ઘનતા વલતયણને પ્રબાવલત કયે 
છે? 
1. Amount of rainfallલયવાદની ભાત્રા 
2. Cultural factorsવાાંસ્કૃવતક ઩હયફ઱ો 
3. Distribution of mineralsખવનજોનુાં વલતયણ 

4. Fertility of soilsજભીનની પ઱દ્ર઩ુતા 
A. 1 & 4 

B. 1, 2 & 3  

C. 1, 3 & 4  

D. 2, 3 & 4 

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Analyze family planning measures problems and its progress in India. 

બાયતભાાં કુટુાંફ વનમોજનની વભસ્માઓ અને તેની પ્રગવતનુાં વલશ્રે઴ણ કયો.  
(14) 

Q-3  What is population projection. Mention its types, importance and methods. 

લસ્તી અંદાજ શુાં છે. તેના પ્રકાયો, ભશત્લ અને ઩િવતઓનો ઉર્લરેખ કયો 
(14) 

Q-4  Explain the population objective and control measure of the population 
step. 
લસ્તીના ઉદે્દશ્મ અને લસ્તી ઩ગરાના વનમાંત્રણના ભા઩ને વભજાલો. 

(14) 

Q-5  During five-year plan explain the population policy of India. 
઩ાંચલ઴ીમ મોજના દયવભમાન બાયતની લસ્તી નીવત વભજાલો. 

(14) 

Q-6  What is human development? Discuss the measurement of human 
development? 
ભાનલ વલકાવ શુાં છે? ભાનલ વલકાવના ભા઩ની ચચાષ કયો? 

(14) 

Q-7  Discuss the relationship between poverty and health. 
ગયીફી અને આયોગ્મ લચ્ચેના વાંફ ાંધની ચચાષ કયો. 

(14) 

Q-8  Write notes: નોંધ (14) 

 1 Explain Suggestions for achieving higher HDI in India. 

બાયતભાાં ઉચ્ચ HDI શાાંવર કયલા ભાટેના સચૂનો વભજાલો 
 

 2 Infant Mortality Rate 

વળશ ુમતૃ્ય ુદય 
 

 


